Answer on the question #68058, Chemistry / Physical Chemistry

Question:
b) Write Born-Haber cycle for BaO crystal.

Answer:

O(g) +2¢ = 0" (2)

603 kJ/mol

+ 2+ -

Ba (g)—Ba (g)+e
965.2 kJ/mol
Ba(g)—Ba (g) + ¢

502.9 kJ/mol
Ba’ (g)+O’ (g) — BaO(s)
-3050.2 kJ/mol

1/20,(g) - O(g)T 249 kJ/mol
Ba(s)—Ba(g)A 182 kJ/mol

Ba(s) + 1/20,(g) — BaO(s)
-548.10 kJ/mol

Data were taken from :

Electron affinity of oxygen : https://2012books.lardbucket.org/books/principles-of-general-
chemistry-v1.0/s11-03-energetics-of-ion-formation.html

lonization energy of barium : https://www.webelements.com/barium/atoms.html|

Enthalpy of atomization of barium :
https://www.webelements.com/barium/thermochemistry.html

Enthalpy of atomization of oxygen :
https://www.webelements.com/oxygen/thermochemistry.html

Enthalpy of formation of BaO :
http://webbook.nist.gov/cgi/cbook.cgi?ID=C1304285&Units=SI&Mask=2#Thermo-
Condensed
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